

$$3x^2 - ax + 2 = 0 \rightarrow P = \frac{c}{a}, S = \frac{a}{c} \Rightarrow 3x = \frac{a}{3} \Rightarrow \alpha = \frac{a}{12}$$

$$\Rightarrow 3\alpha^2 = \frac{c}{a} = \frac{2}{3} \Rightarrow 9\alpha^2 = 4 \Rightarrow \alpha^2 = \frac{4}{9} \Rightarrow \alpha = \pm \frac{2}{3}$$

$$\rightarrow \begin{cases} \frac{a}{12} = \frac{2}{3} \Rightarrow a = 8 \\ \frac{a}{12} = -\frac{2}{3} \Rightarrow a = -8 \end{cases} \Rightarrow \text{اختلاف} = 16$$

$$\sqrt{\frac{1}{\alpha}} + \sqrt{\frac{1}{\beta}} = 8 \xrightarrow{\text{مربع}} \frac{1}{\alpha} + \frac{1}{\beta} + \frac{2}{\sqrt{\alpha\beta}} = 64$$

$$3x^2 - (m+1)x + 1 = 0 \rightarrow \frac{1}{\alpha} + \frac{1}{\beta} = \frac{S}{P} + \frac{2}{\sqrt{P}} = 64$$

$$\rightarrow \frac{S+2\sqrt{P}}{P} = m+1 \Rightarrow m = -1$$

$$mx^2 + 2m + 2 \rightarrow (-1)x^2 + 2x + 2 \Rightarrow P = \frac{c}{a} = \frac{-2}{1} = -2$$

$$5x^2 + kx^2 - 9x - 2 = 0 \rightarrow (x-\alpha)(x-\beta) = 5x^2 + kx^2 - 9x - 2 = 0$$

$$(x^2 - 5x + p)(x^2 - x - 2) = (x-2)(x+1) = 5x^2 + kx^2 - 9x - 2 = 0$$

$$\Rightarrow \begin{cases} -1 \\ 2 \end{cases} \Rightarrow 5(-1)^2 + k(-1) - 9(-1) - 2 = -5 + k + 9 - 2 = 0 \Rightarrow k = -2$$

$$x^2 + 4x + a = 0 \quad \alpha < \beta < 0 \rightarrow \alpha^2 > \beta^2 > 0 \Rightarrow \begin{cases} S = -4 \\ P = a \end{cases}$$

$$3\alpha^2 + 2\beta^2 = 12\sqrt{2} + 18 = 12\alpha^2 + 12\alpha^2 + 2\beta^2 - 12\beta^2 = 12(\alpha^2 + \beta^2) + 2(\alpha^2 - \beta^2)$$

$$= 12(S^2 - 2P) + 2(S(\frac{-\sqrt{\Delta}}{2a})) = 12(16 - 2a) + 2(\sqrt{16 - 4a})(-2) = 12\sqrt{2} + 18$$

$$\rightarrow 96 - 24a - 4\sqrt{16 - 4a} = 12\sqrt{2} + 18 \Rightarrow 8 - 2a + \sqrt{16 - 4a} = 12\sqrt{2}$$

$$\rightarrow a = 1$$

$$x^2 - vx^2 - 8 = 0 \xrightarrow{t=x^2} t^2 - vt - 8 = 0 \Rightarrow t = \frac{v \pm \sqrt{v^2 + 32}}{2}$$

$$\begin{cases} t = \frac{v - \sqrt{v^2 + 32}}{2} < 0 \\ t = \frac{v + \sqrt{v^2 + 32}}{2} > 0 \end{cases}$$

$$2P^2 - 3SP + 2S \rightarrow x^2 > 0 \Rightarrow t > 0 \Rightarrow \begin{cases} S: 0 \\ P: \sqrt{\frac{v + \sqrt{v^2 + 32}}{2}} \left(-\sqrt{\frac{v + \sqrt{v^2 + 32}}{2}} \right) \end{cases}$$

$$\rightarrow P = -\frac{v + \sqrt{v^2 + 32}}{2} \Rightarrow 2 \left(\frac{v + \sqrt{v^2 + 32}}{2} \right)^2 - 0 + 0 = 89 + v\sqrt{49}$$

$$\begin{cases} \gamma n^r - a n + b = 0 \\ \gamma a n^r + a n - \gamma = 0 \end{cases} \rightarrow \begin{cases} S = \frac{a}{\gamma} \\ P = \frac{b}{\gamma} \end{cases} \rightarrow \begin{cases} S' = -\frac{1}{\gamma} \\ P' = -\gamma \end{cases}$$

$$\Rightarrow S = S' + 1 \Rightarrow \frac{a}{\gamma} = -\frac{1}{\gamma} + 1 \Rightarrow a = 1 \Rightarrow \gamma(1)n^r + (1)n - \gamma = \gamma n^r + n - \gamma$$

$$\Rightarrow \alpha', \beta' = -1, 1, 0 \Rightarrow \alpha, \beta = -1, 0, 1 \Rightarrow \gamma \times (-1, 0) = -\gamma \Rightarrow b = -\gamma$$

$$\Rightarrow \left[\frac{ab}{\gamma} \right] = \left[\frac{-\gamma}{\gamma} \right] = -1, 0 = -1 \checkmark$$

$$\gamma \cdot \beta^r + \gamma \cdot \alpha^r - \gamma \cdot \beta = \gamma \cdot \beta^r + \gamma \cdot \beta^r + \gamma \cdot \alpha^r - \gamma \cdot \beta = 1\gamma \Rightarrow \gamma \cdot (\beta^r + \alpha^r) + \gamma \cdot (\beta^r - \beta)$$

$$a n^r - a n - b = 0 \rightarrow a(n^r - n) = b \rightarrow \beta^r - \beta = \frac{b}{a} \quad \begin{cases} S = \frac{a}{a} = 1 \\ P = -\frac{b}{a} \end{cases}$$

$$\Rightarrow \gamma \cdot (S^r - \gamma P) + \gamma \cdot \left(\frac{b}{a} \right) = \gamma \cdot (1 - (-\frac{\gamma b}{a})) + \gamma \cdot \frac{b}{a} = \gamma \cdot 1 + \frac{\gamma \cdot b}{a} = 1\gamma$$

$$\Rightarrow \frac{b}{a} = -\frac{\gamma}{\gamma} = -\frac{1}{\gamma} \rightarrow \gamma b = -a \Rightarrow a = -\gamma b \Rightarrow -\gamma b n^r + \gamma b n - b = 0 \div b \rightarrow -n^r + \gamma n - 1 = 0$$

$$\Rightarrow \text{اقلان} = \frac{\sqrt{b^2 - 4ac}}{2a} = \frac{\sqrt{b^2 - 4ac}}{\gamma} = \frac{\sqrt{1\gamma}}{\gamma} = \sqrt{\frac{1\gamma}{\gamma}} = \sqrt{1} = 1 \checkmark$$

$$\begin{aligned} S &= a + 1 \rightarrow b + (b + \gamma) \\ S' &= \gamma a + 1 \rightarrow a + (a + \gamma) \end{aligned} \rightarrow \begin{cases} P = a \\ P' = b \end{cases} \rightarrow \begin{cases} (-\frac{1}{\gamma}, 1, 0) \\ (-1, 0, 1) \end{cases} \rightarrow \begin{cases} \frac{a}{\gamma} \\ \frac{b}{\gamma} \end{cases}$$

$$\Rightarrow \frac{a}{\gamma} - 1, 0 \Rightarrow P = a = \left(\frac{a + \gamma}{\gamma} \right) \left(\frac{a - 1}{\gamma} \right) \Rightarrow a^r + \gamma a - \gamma = \gamma a \Rightarrow a^r - \gamma a - \gamma = 0$$

$$\Rightarrow (a - \gamma)(a + 1) = 0 \rightarrow \begin{cases} a = \gamma \rightarrow n^r - \gamma n + \gamma \rightarrow (n - \gamma)(n + 1) \Rightarrow P = \gamma \\ a = -1 \rightarrow n^r - 1 \Rightarrow n = \pm 1 \Rightarrow -1 \end{cases}$$

$$n^r + n - 1 - m^r = 0$$

$$\alpha^r + \beta^r = S^r - \gamma P = (-1)^r - \gamma(-m^r - 1) = 1 + \gamma m^r + \gamma = \gamma m^r + \gamma$$

$$\Rightarrow \text{ext} \left| -\frac{b}{\gamma a} = 0 \right. \\ \left. \gamma(0) + \gamma = \gamma \checkmark \rightarrow \text{كسر منقسوم}$$

$$A(\gamma, y) \quad B(-\delta, y) \rightarrow y_1 = y_2 \Rightarrow \frac{n_1 + n_2}{\gamma} = n_{\text{ext}} \Rightarrow n_{\text{ext}} = \frac{\gamma - \delta}{\gamma} = -1 \quad (y_{\text{ext}} = 1)$$

$$\rightarrow \text{ext} \text{ variables} = a(n - h)^r + k = a(n + 1)^r + 1 \rightarrow a n^r + \gamma a n + a + 1 = 0$$

$$\rightarrow \begin{cases} S = -\frac{\gamma a}{a} = -\gamma \\ P = \frac{a + 1}{a} \end{cases} \quad \alpha^r + \beta^r = S^r - \gamma P = (-\gamma)^r - \gamma \left(\frac{a + 1}{a} \right) = \delta \Rightarrow a = -\frac{\gamma}{\gamma}$$

$$\Rightarrow y = -\frac{\gamma}{\gamma} (n + 1)^r + 1 \xrightarrow{n=0} -\frac{\gamma}{\gamma} + 1 = 0 \checkmark \rightarrow \text{عوض از صفر}$$

$$u^2 - (3a+1)u + b = 0 \xrightarrow{a=3} u^2 - 10u + b = 0 \quad \text{ادامہ ۸}$$

$$S = \alpha + \alpha + 2 = 10 \rightarrow \alpha = 4$$

$$P = f(4) = 24$$

$$\text{اصلاف} = 24 - 3 = \boxed{21}$$

ریشه α و $\alpha + 2$ ←
دو عدد زوج متوالی